Chemistry 334R
Problem Set 2
1. Draw the mechanism of the following reaction, using the curved-arrow notation to indicate the
reorganization of electron density. Denote all intermediates, lone pairs, nonzero formal charges,

countercharges, and reversibility or nonreversibility. Finally, explain the mechanistic basis for the
stereochemical outcome.

CH,4 CH,

.. Na :OH .
SH . - S,
H,C = HyC \‘/\CH3

+ Ni:T: + H0

2. Draw the mechanism of the following reaction, using the curved-arrow notation to indicate the
reorganization of electron density. Denote all lone pairs, nonzero formal charges, countercharges,
and reversibility or nonreversibility. Finally, explain the mechanistic basis for the stereochemical
outcome. In particular, explain why the product is a trans-1,2-disubstituted epoxide, and that it is a
racemic mixture.
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